

# CERTAIN CLASS OF BI-UNIVALENT FUNCTIONS ASSOCIATED WITH CHEBYSHEV POLYNOMIAL AND Q-DIFFERENCE OPERATOR 

B. M. MUNASSER, A. O. MOSTAFA, T. SULTAN, NASSER A. EL-SHERBENY AND S. M. MADIAN


#### Abstract

Using Chebyshev polynomials and q-differential operator, we introduce a novel class of bi-univalent functions within the open unit disk. Initial coefficient bounds for this class are established, emphasizing their significance in complex analysis. Analyticity ensures the representation of these functions through convergent power series, offering a robust tool for comprehending their behavior. The condition of univalence guarantees the one-to-one nature of these functions, preventing multiple mappings of the same point. Researchers employ bi-univalent functions to delve into diverse aspects of complex analysis, unraveling their properties and applications across various mathematical contexts. The exploration encompasses the investigation of geometric properties, including Fekete-Szegö inequality and coefficient bounds, unraveling the intricate interplay between analytic and geometric characteristics. In summary, the study of bi-univalent functions contributes to the depth of complex analysis, providing a nuanced understanding of the relationships between analyticity and univalence. This exploration lays the foundation for advancements in mathematical theory and applications.


## 1. Introduction

Let $\mathcal{A}$ be the class of functions:

$$
\begin{equation*}
E(\varkappa)=\varkappa+\sum_{k=2}^{\infty} a_{k} \varkappa^{k} \tag{1}
\end{equation*}
$$

which are analytic and univalent in $\mathbb{U}=\{\varkappa \in \mathbb{C}:|\varkappa|<1\}$.
Every univalent function $E$ has an inverse $E^{-1}$ satisfies (Duren [19])
$E^{-1}(E(\varkappa))=\varkappa \quad(\varkappa=\mathbb{U}), \quad$ and $\quad E\left(E^{-1}(\omega)\right)=\omega \quad|\omega|<r_{0}(f), r(f) \geq \frac{1}{4}$,

1991 Mathematics Subject Classification. : 30C45.
Key words and phrases. univalent functions, bi-univalent, starlike and convex functions, coefficient estimates, Fekete-Szegö inequality.

Submitted March 6, 2024. Revised May 2, 2024.

It is easy to see that the inverse function has the form

$$
\begin{equation*}
E^{-1}(\omega)=G(\omega)=\omega-a_{2} \omega^{2}+\left(2 a_{2}^{2}-a_{3}\right) \omega^{3}-\left(5 a_{2}^{3}-5 a_{2} a_{3}+a_{4}\right) \omega^{4}+\ldots \tag{3}
\end{equation*}
$$

A function $E \in \mathcal{A}$ is called bi-univalent in $\mathbb{U}$ if both $E$ and $E^{-1}$ are univalent in $\mathbb{U}$. For more study see([8], [9], [25] and [28] ).

Denote the class of such functions by $\sum$.
For examples of classes of bi-univalent functions see [2] and [26].
Mason [24] and Doha [18] defined the first and second kinds of Chebyshev polynomials by ( see also [3], [20])

$$
T_{k}(t)=\cos k \theta \text { and } U_{k}(t)=\frac{\sin (k+1) \theta}{\sin \theta}
$$

where $k$ denotes the polynomial degree and $t=\cos \theta$. The Chebyshev polynomials of the first and second kinds are orthogonal for $t \in[-1,1]$.

The function

$$
\begin{align*}
H(\varkappa, t) & =\frac{1}{1-2 t \varkappa+\varkappa^{2}} \quad z \in \mathbb{U} \\
& =1+\sum_{k=2}^{\infty} \frac{\sin (k+1) \alpha}{\sin \alpha} \varkappa^{k}=1+2 \cos \alpha \varkappa+\left(3 \cos ^{2} \alpha-\sin ^{2} \alpha\right) \varkappa^{2}+\ldots \tag{4}
\end{align*}
$$

if $t=\cos \alpha, \alpha \in\left(\frac{-\pi}{3}, \frac{\pi}{3}\right)$.
Whittaker and Watson [19] also wrote the function $H(\varkappa, t)$ in the form

$$
\begin{equation*}
H(\varkappa, t)=1+U_{1}(t) \varkappa+U_{2}(t) \varkappa^{2}+\ldots(\varkappa \in \mathbb{U}, t \in(-1,1)) \tag{5}
\end{equation*}
$$

where $U_{k-1}(t)=\frac{\sin (k \arccos t)}{\sqrt{1-t^{2}}}$, for $k \in \mathbb{N}=\{1,2, \ldots\}$, are the second kind the Chebyshev inequality. They obtained that relationships

$$
\begin{equation*}
U_{k}(t)=2 t U_{k-1}(t)-U_{k-2}(t) \tag{6}
\end{equation*}
$$

and

$$
\begin{equation*}
U_{1}(t)=2 t, U_{2}(t)=4 t^{2}-1, U_{3}(t)=8 t^{3}-4 t, U_{4}(t)=16 t^{4}-12 t^{2}+1, \ldots \tag{7}
\end{equation*}
$$

For $0<q<1$ the Jackson's $q$ - derivative of $E(\varkappa) \in \mathcal{A}$ is, given by [22] (see also [4], [10], [11], [12], [13], [14])

$$
D_{q} E(\varkappa)=\left\{\begin{array}{lll}
\frac{E(\varkappa)-E(q \varkappa)}{(1-q) \varkappa} & , & \varkappa \neq 0  \tag{8}\\
E^{\prime}(\varkappa) & , & \varkappa=0
\end{array} .\right.
$$

From (8) , we have

$$
\begin{equation*}
D_{q} E(\varkappa)=1+\sum_{k=2}^{\infty}[k]_{q} a_{k} \varkappa^{k-1} \tag{9}
\end{equation*}
$$

where

$$
\begin{equation*}
[k]_{q}=\frac{1-q^{k}}{1-q} \tag{10}
\end{equation*}
$$

as $q \rightarrow 1^{-}$then $[k]_{q} \rightarrow k$, hence we have

$$
\begin{equation*}
\lim _{q \rightarrow 1^{-}} D_{q} E(\varkappa)=E^{\prime}(\varkappa) \tag{11}
\end{equation*}
$$

For $E \in \mathcal{A}$, Aouf and Madian [5], [[6], with $p=1]$, [23] and [7] defined the q-differential Câtaş operator by:

$$
\begin{equation*}
I_{q}^{n}(\lambda, \ell) E(\varkappa)=\varkappa+\sum_{k=2}^{\infty} \Psi_{q}^{n}(k, \lambda, \ell) a_{k} \varkappa^{k} \tag{12}
\end{equation*}
$$

where

$$
\begin{align*}
& \Psi_{q}^{n}(k, \lambda, \ell)=\left[\frac{[1+\ell]_{q}+\lambda\left([k+\ell]_{q}-[1+\ell]_{q}\right)}{[1+\ell]_{q}}\right]^{n}  \tag{13}\\
&\left(n \in \mathbb{N}_{0}=\mathbb{N} \cup\{0\}, \lambda, \ell \geq 0,0<q<1\right),
\end{align*}
$$

and satisfies

$$
I_{q}^{n}(\lambda, \ell) E(\varkappa)=(1-\lambda) I_{n}^{n-1}(\lambda, \ell) E(\varkappa)+\frac{\lambda}{[\ell+1]_{q} \varkappa^{\ell-1}} D_{q} z^{\ell} I_{q}^{n-1}(\lambda, \ell) E(\varkappa) .
$$

Note that $I_{q}^{n}(\lambda, \ell) E(\varkappa)$ generalizes many operators such as the following:
(i) $I_{q}^{n}(\lambda, 0) E(\varkappa)=D_{q, \lambda}^{n} E(\varkappa)$ (see Aouf et al.[15];
(ii) $I_{q}^{n}(1,0) E(\varkappa)=I_{q}^{n} E(\varkappa)$, see ( [21] and [14]);
(iii) $\lim _{q \rightarrow 1^{-}} I_{q}^{n}(\lambda, \ell) E(\varkappa)=I^{n}(\lambda, \ell) E(\varkappa)$ (see Câtas et al. [17]);
(iv) $\lim _{q \rightarrow 1^{-}} I_{q}^{n}(\lambda, 0) E(\varkappa)=D_{\lambda}^{n} E(\varkappa)$ (see AI-Aboudi [1]);
(v) $\lim _{q \rightarrow 1^{-}} I_{q}^{n}(1,0) E(\varkappa)=I^{n} E(\varkappa)$ (see Sălăgean [27]).

Using the operator $T_{\gamma, t}^{q, n, \lambda, \ell}$ and Chebyshev polynomials, we define the following class:

Definition 1.1 For $0 \leq \gamma \leq 1$, a function $E \in \sum$, is said to be in the class $T_{\gamma, t}^{q, n, \lambda, \ell}$ if the following subordination hold:

$$
\begin{equation*}
(1-\gamma) \frac{\varkappa D_{q}\left(I_{q}^{n}(\lambda, \ell) E(\varkappa)\right)}{I_{q}^{n}(\lambda, \ell) E(\varkappa)}+\gamma \frac{D_{q}\left(\varkappa D_{q}\left(I_{q}^{n}(\lambda, \ell) E(\varkappa)\right)\right)}{D_{q}\left(I_{q}^{n}(\lambda, \ell) E(\varkappa)\right)} \prec H(\varkappa, t), \tag{14}
\end{equation*}
$$

and

$$
\begin{equation*}
(1-\gamma) \frac{\omega D_{q}\left(I_{q}^{n}(\lambda, \ell) G(\omega)\right)}{I_{q}^{n}(\lambda, \ell) G(\omega)}+\gamma \frac{D_{q}\left(\omega D_{q}\left(I_{q}^{n}(\lambda, \ell) G(\omega)\right)\right)}{D_{q}\left(I_{q}^{n}(\lambda, \ell) G(\omega)\right)} \prec H(\omega, t), \tag{15}
\end{equation*}
$$

where $\varkappa, \omega \in \mathbb{U}$ and $G$ is given by (3).
Note that
(i) If $\gamma=0$, then $T_{0, t}^{q, n, \lambda, \ell}=T_{t}^{q, n, \lambda, \ell}: E \in T_{t}^{q, n, \lambda, \ell}$ satisfying

$$
\frac{\varkappa D_{q}\left(I_{q}^{n}(\lambda, \ell) E(\varkappa)\right)}{I_{q}^{n}(\lambda, \ell) E(\varkappa)} \prec H(\varkappa, t) \quad \text { and } \quad \frac{\omega D_{q}\left(I_{q}^{n}(\lambda, \ell) G(\omega)\right)}{I_{q}^{n}(\lambda, \ell) G(\omega)} \prec H(\omega, t),
$$

(ii) If $\gamma=1$, then $T_{1, t}^{q, n, \lambda, \ell}=I_{t}^{q, n, \lambda, \ell}: E \in I_{t}^{q, n, \lambda, \ell}$ satisfying
$\frac{D_{q}\left(z D_{q}\left(I_{q}^{n}(\lambda, \ell) E(\varkappa)\right)\right)}{D_{q}\left(I_{q}^{n}(\lambda, \ell) E(\varkappa)\right)} \prec H(\varkappa, t) \quad$ and $\quad \frac{D_{q}\left(\omega D_{q}\left(I_{q}^{n}(\lambda, \ell) G(\omega)\right)\right)}{D_{q}\left(I_{q}^{n}(\lambda, \ell) G(\omega)\right)} \prec H(\omega, t)$,
(iii) If $n=0$ then $T_{\gamma, t}^{q, 0, \lambda, \ell}=T_{\gamma, t}^{q,}$ :

$$
\begin{equation*}
(1-\gamma) \frac{\varkappa D_{q} E(\varkappa)}{E(\varkappa)}+\gamma \frac{D_{q}\left(\varkappa D_{q} E(\varkappa)\right)}{D_{q} E(\varkappa)} \prec H(\varkappa, t), \tag{16}
\end{equation*}
$$

and

$$
\begin{equation*}
(1-\gamma) \frac{\omega D_{q} G(\omega)}{G(\omega)}+\gamma \frac{D_{q}\left(\omega D_{q} G(\omega)\right)}{D_{q} G(\omega)} \prec H(\omega, t) . \tag{17}
\end{equation*}
$$

## 2. Main Results

Unless indicated, assume that $n \in \mathbb{N}_{0}, \lambda, \ell \geq 0,0<q<1, t \in(-1,1)$ and $E(\varkappa) \in \sum$.

Theorem 2.1 Let $E(\varkappa) \in T_{\gamma, t}^{q, n, \lambda, \ell}$. Then

$$
\left|a_{2}\right| \leq \frac{4 t \sqrt{t}}{\sqrt{2\left[\begin{array}{c}
-q\left(1-\gamma+\gamma[2]_{q}^{2}\right)\left(\Psi_{q}^{n}(2, \lambda, \ell)\right)^{2}  \tag{18}\\
+\left([3]_{q}-1\right)\left(1-\gamma+\gamma[3]_{q}\right) \Psi_{q}^{n}(3, \lambda, \ell) \\
-\left(4 t^{2}-1\right) q^{2}(1+\gamma q)^{2}\left(\Psi_{q}^{n}(2, \lambda, \ell)\right)^{2}
\end{array}\right] 4 t^{2}}}
$$

and

$$
\left|a_{3}\right| \leq\left(\frac{2 t}{q(1+\gamma q)\left(\Psi_{q}^{n}(2, \lambda, \ell)\right)}\right)^{2}+\frac{2 t}{\left([3]_{q}-1\right)\left(1-\gamma+[3]_{q} \gamma\right) \Psi_{q}^{n}(3, \lambda, \ell)}
$$

Proof. Let $E(\varkappa) \in T_{\gamma, t}^{q, n, \lambda, \ell}$. From (14) and (15), we have

$$
\begin{equation*}
(1-\gamma) \frac{\varkappa D_{q}\left(I_{q}^{n}(\lambda, \ell) E(\varkappa)\right)}{I_{q}^{n}(\lambda, \ell) E(\varkappa)}+\gamma \frac{D_{q}\left(\varkappa D_{q}\left(I_{q}^{n}(\lambda, \ell) E(\varkappa)\right)\right)}{D_{q}\left(I_{q}^{n}(\lambda, \ell) E(\varkappa)\right)}=H(p(\varkappa), t), \tag{19}
\end{equation*}
$$

and

$$
\begin{equation*}
(1-\gamma) \frac{\omega D_{q}\left(I_{q}^{n}(\lambda, \ell) G(\omega)\right)}{I_{q}^{n}(\lambda, \ell) G(\omega)}+\gamma \frac{D_{q}\left(\omega D_{q}\left(I_{q}^{n}(\lambda, \ell) G(\omega)\right)\right)}{D_{q}\left(I_{q}^{n}(\lambda, \ell) G(\omega)\right)}=H(q(\omega), t) \tag{20}
\end{equation*}
$$

for

$$
\begin{gather*}
p(\varkappa)=c_{1} \varkappa+c_{2} \varkappa^{2}+\ldots(\varkappa \in \mathbb{U})  \tag{21}\\
q(\omega)=d_{1} \omega+d_{2} \omega^{2}+\ldots(\omega \in \mathbb{U}) \tag{22}
\end{gather*}
$$

such that $|p(\varkappa)|<1(z \in \mathbb{U})$ and $|q(\omega)|<1 \quad(\omega \in \mathbb{U})$, hence

$$
\begin{equation*}
\left|c_{j}\right| \leq 1 \text { and }\left|d_{j}\right| \leq 1 \text { for all } \quad j \in \mathbb{N} \tag{23}
\end{equation*}
$$

From (19), (20), (21), and (22), we have

$$
\begin{gather*}
(1-\gamma) \frac{\varkappa D_{q}\left(I_{q}^{n}(\lambda, \ell) E(\varkappa)\right)}{I_{q}^{n}(\lambda, \ell) E(\varkappa)}+\gamma \frac{D_{q}\left(\varkappa D_{q}\left(I_{q}^{n}(\lambda, \ell) E(\varkappa)\right)\right)}{D_{q}\left(I_{q}^{n}(\lambda, \ell) E(\varkappa)\right)} \\
=1+U_{1}(t) c_{1} \varkappa+\left(U_{1}(t) c_{2}+U_{2}(t) c_{1}^{2}\right) \varkappa^{2}+\ldots \\
\Rightarrow(1-\gamma) \frac{1+\sum_{k=2}^{\infty}[k]_{q} \Psi_{q}^{n}(k, \lambda, \ell) a_{k} \varkappa^{k-1}}{1+\sum_{k=2}^{\infty} \Psi_{q}^{n}(k, \lambda, \ell) a_{k} \varkappa^{k-1}}+\gamma \frac{1+\sum_{k=2}^{\infty}[k]_{q}^{2} \Psi_{q}^{n}(k, \lambda, \ell) a_{k} \varkappa^{k-1}}{1+\sum_{k=2}^{\infty}[k]_{q} \Psi_{q}^{n}(k, \lambda, \ell) a_{k} \varkappa^{k-1}} \\
=1+U_{1}(t) c_{1} \varkappa+\left(U_{1}(t) c_{2}+U_{2}(t) c_{1}^{2}\right) \varkappa^{2}+\ldots, \tag{24}
\end{gather*}
$$

and

$$
\begin{gather*}
(1-\gamma) \frac{\omega D_{q}\left(I_{q}^{n}(\lambda, \ell) G(\omega)\right)}{I_{q}^{n}(\lambda, \ell) G(\omega)}+\gamma \frac{D_{q}\left(\omega D_{q}\left(I_{q}^{n}(\lambda, \ell) G(\omega)\right)\right)}{D_{q}\left(I_{q}^{n}(\lambda, \ell) G(\omega)\right)} \\
=1+U_{1}(t) d_{1} \omega+\left(U_{1}(t) d_{2}+U_{2}(t) d_{1}^{2}\right) \omega^{2}+\ldots . \\
\Rightarrow(1-\gamma) \frac{1-[2]_{q} \Psi_{q}^{n}(2, \lambda, \ell) a_{2} \omega+[3]_{q}\left(2 a_{2}^{2}-a_{3}\right) \Psi_{q}^{n}(3, \lambda, \ell) \omega^{2}+\ldots}{1-\Psi_{q}^{n}(2, \lambda, \ell) a_{2} \omega+\left(2 a_{2}^{2}-a_{3}\right) \Psi_{q}^{n}(3, \lambda, \ell) \omega^{2}+\ldots} \\
+\gamma \frac{1-[2]_{q}^{2} \Psi_{q}^{n}(2, \lambda, \ell) a_{2} \omega+[3]_{q}^{2}\left(2 a_{2}^{2}-a_{3}\right) \Psi_{q}^{n}(3, \lambda, \ell) \omega^{2}+\ldots}{1-[2]_{q} \Psi_{q}^{n}(2, \lambda, \ell) a_{2} \omega+[3]_{q}\left(2 a_{2}^{2}-a_{3}\right) \Psi_{q}^{n}(3, \lambda, \ell) \omega^{2}+\ldots} \\
=1+U_{1}(t) d_{1} \omega+\left(U_{1}(t) d_{2}+U_{2}(t) d_{1}^{2}\right) \omega^{2}+\ldots . \tag{25}
\end{gather*}
$$

By equating the coefficients in (24)and (8), we have

$$
\begin{align*}
& q(1+\gamma q) \Psi_{q}^{n}(2, \lambda, \ell) a_{2}=U_{1}(t) c_{1}  \tag{26}\\
& -q\left(1-\gamma+\gamma[2]_{q}^{2}\right)\left(\Psi_{q}^{n}(2, \lambda, \ell)\right)^{2} a_{2}^{2}+\left([3]_{q}-1\right)\left(1-\gamma+[3]_{q} \gamma\right) \Psi_{q}^{n}(3, \lambda, \ell) a_{3} \\
& =\left(U_{1}(t) c_{2}+U_{2}(t) c_{1}^{2}\right) \tag{27}
\end{align*}
$$

and

$$
\begin{align*}
& -q(1+\gamma q) \Psi_{q}^{n}(2, \lambda, \ell) a_{2}=U_{1}(t) d_{1}  \tag{28}\\
- & q\left(1-\gamma+\gamma[2]_{q}^{2}\right)\left(\Psi_{q}^{n}(2, \lambda, \ell)\right)^{2} a_{2}^{2} \\
+ & 2\left([3]_{q}-1\right)\left(1-\gamma+\gamma[3]_{q}\right) \Psi_{q}^{n}(3, \lambda, \ell) a_{2}^{2} \\
- & \left([3]_{q}-1\right)\left(1-\gamma+[3]_{q} \gamma\right) \Psi_{q}^{n}(3, \lambda, \ell) a_{3} \\
= & \left(U_{1}(t) d_{2}+U_{2}(t) d_{1}^{2}\right) . \tag{29}
\end{align*}
$$

From (26) and (28) we have

$$
\begin{equation*}
c_{1}=-d_{1} \tag{30}
\end{equation*}
$$

and

$$
\begin{equation*}
2 q^{2}(1+\gamma q)^{2}\left(\Psi_{q}^{n}(2, \lambda, \ell)\right)^{2} a_{2}^{2}=U_{1}^{2}(t)\left(c_{1}^{2}+d_{1}^{2}\right) \tag{31}
\end{equation*}
$$

Also from (27)and (29), we have

$$
\begin{align*}
& -2 q\left(1-\gamma+\gamma[2]_{q}^{2}\right)\left(\Psi_{q}^{n}(2, \lambda, \ell)\right)^{2} a_{2}^{2}+2\left([3]_{q}-1\right)\left(1-\gamma+\gamma[3]_{q}\right) a_{2}^{2} \Psi_{q}^{n}(3, \lambda, \ell) \\
& =U_{1}(t)\left(c_{2}+d_{2}\right)+U_{2}(t)\left(c_{1}^{2}+d_{1}^{2}\right) \tag{32}
\end{align*}
$$

By using (31), we get

$$
\begin{align*}
& {\left[\begin{array}{c}
-2 q\left(1-\gamma+\gamma[2]_{q}^{2}\right)\left(\Psi_{q}^{n}(2, \lambda, \ell)\right)^{2} a_{2}^{2} \\
+2\left([3]_{q}-1\right)\left(1-\gamma+\gamma[3]_{q}\right) \Psi_{q}^{n}(3, \lambda, \ell) a_{2}^{2}
\end{array}\right] U_{1}^{2}(t)-} \\
& -2 U_{2}(t) q^{2}(1+\gamma q)^{2}\left(\Psi_{q}^{n}(2, \lambda, \ell)\right)^{2} a_{2}^{2} \\
& =U_{1}^{3}(t)\left(c_{2}+d_{2}\right) \tag{33}
\end{align*}
$$

that is

$$
a_{2}^{2}=\frac{U_{1}^{3}(t)\left(c_{2}+d_{2}\right)}{2\left[\begin{array}{c}
-q\left(1-\gamma+\gamma[2]_{q}^{2}\right)\left(\Psi_{q}^{n}(2, \lambda, \ell)\right)^{2}  \tag{34}\\
+\left([3]_{q}-1\right)\left(1-\gamma+\gamma[3]_{q}\right) \Psi_{q}^{n}(3, \lambda, \ell)
\end{array}\right] U_{1}^{2}(t)-}
$$

Now, substitute (7) in (34) and using (31), we have

$$
\left|a_{2}\right| \leq \frac{4 t \sqrt{t}}{\sqrt{2\left[\begin{array}{c}
-q\left(1-\gamma+\gamma[2]_{q}^{2}\right)\left(\Psi_{q}^{n}(2, \lambda, \ell)\right)^{2}  \tag{35}\\
+\left([3]_{q}-1\right)\left(1-\gamma+\gamma[3]_{q}\right) \Psi_{q}^{n}(3, \lambda, \ell)
\end{array}\right] 4 t^{2}}}
$$

By subtracting (27), from (29)and using (30) and (31), we get

$$
\begin{equation*}
a_{3}=\frac{U_{1}^{2}(t)\left(c_{1}^{2}+d_{1}^{2}\right)}{2 q^{2}(1+\gamma q)^{2}\left(\Psi_{q}^{n}(2, \lambda, \ell)\right)^{2}}+\frac{U_{1}(t)\left(c_{2}-d_{2}\right)}{2\left([3]_{q}-1\right)\left(1-\gamma+[3]_{q} \gamma\right) \Psi_{q}^{n}(3, \lambda, \ell)} \tag{36}
\end{equation*}
$$

Applying (23 )once again to the coefficients $c_{1}, c_{2}, d_{1}$, and $d_{2}$, then

$$
\begin{equation*}
\left|a_{3}\right| \leq\left(\frac{2 t}{q(1+\gamma q)\left(\Psi_{q}^{n}(2, \lambda, \ell)\right)}\right)^{2}+\frac{2 t}{\left([3]_{q}-1\right)\left(1-\gamma+[3]_{q} \gamma\right) \Psi_{q}^{n}(3, \lambda, \ell)} \tag{37}
\end{equation*}
$$

Theorem 2.2. Let $E(\varkappa) \in T_{\gamma, t}^{q, n, \lambda, \ell}$ and $\tau \in \mathbb{C}$, then

$$
\left|a_{3}-\tau a_{2}^{2}\right| \leq\left\{\begin{array}{l}
\frac{2 t}{\left([3]_{q}-1\right)\left(1-\gamma+[3]_{q} \gamma\right) \Psi_{q}^{n}(3, \lambda, \ell)}, 0 \leq|\Delta(\tau)| \leq \frac{1}{2\left([3]_{q}-1\right)\left(1-\gamma+[3]_{q} \gamma\right) \Psi_{q}^{n}(3, \lambda, \ell)}  \tag{38}\\
4 t|\Delta(\tau)|,
\end{array}|\Delta(\tau)| \geq \frac{1}{2\left([3]_{q}-1\right)\left(1-\gamma+[3]_{q} \gamma\right) \Psi_{q}^{n}(3, \lambda, \ell)} .\right.
$$

Proof. From (36)we have $a_{3}=\frac{U_{1}(t)\left(c_{2}-d_{2}\right)}{2\left([3]_{q}-1\right)\left(1-\gamma+[3]_{q} \gamma\right) \Psi_{q}^{n}(3, \lambda, \ell)}+a_{2}^{2}$.
Using (34), we have

$$
\begin{gathered}
a_{3}-\tau a_{2}^{2}=\frac{U_{1}\left(c_{2}-d_{2}\right)}{2\left([3]_{q}-1\right)\left(1-\gamma+[3]_{q} \gamma\right) \Psi_{q}^{n}(3, \lambda, \ell)}+(1-\tau) a_{2}^{2}, \\
a_{3}-\tau a_{2}^{2}=\frac{U_{1}\left(c_{2}-d_{2}\right)}{2\left([3]_{q}-1\right)\left(1-\gamma+[3]_{q} \gamma\right) \Psi_{q}^{n}(3, \lambda, \ell)} \\
+(1-\tau)\binom{2\left[\begin{array}{c}
q\left(1-\gamma+\gamma[2]_{q}^{2}\right)\left(\Psi_{q}^{n}(2, \lambda, \ell)\right)^{2} \\
+\left([3]_{q}-1\right)\left(1-\gamma+\gamma[3]_{q}\right) \Psi_{q}^{n}(3, \lambda, \ell)
\end{array}\right] U_{1}^{2}-}{-U_{2} q^{2}\left(1-\gamma+\gamma[2]_{q}\right)^{2}\left(\Psi_{q}^{n}(2, \lambda, \ell)\right)^{2}}
\end{gathered}
$$

by simple calculations we get

$$
\begin{aligned}
a_{3}-\tau a_{2}^{2} & =U_{1}\left(\Delta(\tau)+\frac{1}{2\left([3]_{q}-1\right)\left(1-\gamma+[3]_{q} \gamma\right) \Psi_{q}^{n}(3, \lambda, \ell)}\right) c_{2} \\
& +U_{1}\left(\Delta(\tau)-\frac{1}{2\left([3]_{q}-1\right)\left(1-\gamma+[3]_{q} \gamma\right) \Psi_{q}^{n}(3, \lambda, \ell)}\right) d_{2}
\end{aligned}
$$

where

$$
\begin{aligned}
& \Delta(\tau)=\frac{(1-\tau) U_{1}^{2}}{2\left[\begin{array}{c}
-q\left(1-\gamma+\gamma[2]_{q}^{2}\right)\left(\Psi_{q}^{n}(2, \lambda, \ell)\right)^{2} \\
+\left([3]_{q}-1\right)\left(1-\gamma+\gamma[3]_{q}\right) \Psi_{q}^{n}(3, \lambda, \ell)
\end{array}\right] U_{1}^{2}-} . \\
& -U_{2} q^{2}(1+\gamma q)^{2}\left(\Psi_{q}^{n}(2, \lambda, \ell)\right)^{2}
\end{aligned}
$$

So, we conclude (38).

For $\tau=1$, in Theorem 2.2, we have.
Corollary 2.1. If $E(\varkappa) \in T_{\gamma, t}^{q, n, \lambda, \ell}$, then

$$
\begin{equation*}
\left|a_{3}-a_{2}^{2}\right| \leq \frac{2 t}{2\left([3]_{q}-1\right)\left(1-\gamma+[3]_{q} \gamma\right) \Psi_{q}^{n}(3, \lambda, \ell)} \tag{39}
\end{equation*}
$$

For $\gamma=1$, in Theorem 2.2, we have.
Corollary 2.2. If $E(\varkappa) \in T_{t}^{q, n, \lambda, \ell}$, then

$$
\left|a_{3}-\tau a_{2}^{2}\right| \leq\left\{\begin{array}{lr}
\frac{2 t}{[3]_{q}\left([3]_{q}-1\right) \Psi_{q}^{n}(3, \lambda, \ell)}, & 0 \leq|\Delta(\tau)| \leq \frac{1}{2[3]_{q}\left([3]_{q}-1\right)+\Psi_{q}^{n}(3, \lambda, \ell)}  \tag{40}\\
4 t\left|\Delta_{1}(\tau)\right|, & |\Delta(\tau)| \geq \frac{1}{2[3]_{q}\left([3]_{q}-1\right) \Psi_{q}^{n}(3, \lambda, \ell)},
\end{array}\right.
$$

where

$$
\Delta_{1}(\tau)=\frac{(1-\tau) U_{1}^{2}}{2\left[\begin{array}{c}
-q[2]_{q}^{2}\left(\Psi_{q}^{n}(2, \lambda, \ell)\right)^{2}  \tag{41}\\
+[3]_{q}\left([3]_{q}-1\right) \Psi_{q}^{n}(3, \lambda, \ell)
\end{array}\right] U_{1}^{2}-U_{2}[2]_{q}^{2} q^{2}\left(\Psi_{q}^{n}(2, \lambda, \ell)\right)^{2}} .
$$

Taking $q=1^{-}$in Theorem 2.1, we have
Corollary 2.3. If $E(\varkappa) \in T_{\gamma, t}^{n, \lambda, \ell}$, then

$$
\left|a_{2}\right| \leq \frac{4 t \sqrt{t}}{\sqrt{\begin{array}{c}
2\left[-(1+3 \gamma)\left(\Psi^{n}(2, \lambda, \ell)\right)^{2}+2(1+2 \gamma) \Psi^{n}(3, \lambda, \ell)\right] 4 t^{2}  \tag{42}\\
-\left(4 t^{2}-1\right)(1+\gamma)^{2}\left(\Psi^{n}(2, \lambda, \ell)\right)^{2}
\end{array}}}
$$

and

$$
\left|a_{3}\right| \leq\left(\frac{2 t}{(1+\gamma)\left(\Psi^{n}(2, \lambda, \ell)\right)}\right)^{2}+\frac{2 t}{2(1+2 \gamma) \Psi^{n}(3, \lambda, \ell)}
$$

Acknowledgements The authors would like to thank the referee(s) for their insightful comments and suggestions.

## References

[1] F. M. AI-Aboudi. On univalent functions defined by a generalized Sălăgean operator, Internat. J. Math. Math. Sci., 27 (2004), 481-494.
[2] A. G. Al-Amoush and A. K. Wanas, Coefficient estimates for a new subclass of bi-close-to-convex functions associated with the Horadam polynomials, Int. J. Open. Prob. Compl. Anal., 14 (2022), no. 1, 16-26.
[3] S. Altinkaya and S. Yalcin, Chebyshev polynomial coefficient bounds for a subclass of biunivalent functions, arXiv:1605.08224v1[math. CV], (2016), 1-8.
[4] M. H. Annby and Z. S. Mansour, q-Fractional Calculus Equations. Lecture Notes in Mathematies., Vol. 2056, Springer, Berlin 2012.
[5] A. K. Aouf and S. M. Madian, Inclusion and properties neighborhood for certain p-valent functions associated with complex order and $q$ - $p$-valent Cătaş operator, J. Taibah Univ. Sci., 14 (2020), no. 1, 1226-1232.
[6] A. K. Aouf and S. M. Madian, Certain clases of analytic functions associated with q-analogue of p-valent Cătaş operator, Moroccan J. Pure Appl. Anal., 7 (2021), no. 3, 430-447.
[7] A. K. Aouf and S. M. Madian. Subordination factor sequence results for starlike and convex classes defined by q-Cătaş operator, Afrika Mat., (2021), 1-13.
[8] A. K. Aouf and S. M. Madian. Coefficient bounds for bi-univalent classes defined by Bazilevič functions and convolution, Boletin de la Sociedad Mat. Mex., 26 (2020), 1045-1062.
[9] A. K. Aouf S. M. Madian and A. O. Mostafa, Bi-univalent properties for certain class of Bazilevič functions defined by convolution and with bounded boundary rotation, J. Egyption Math. Soc., 27 (2019), no. 11, 1-9.
[10] A. K. Aouf and A. O.Mostafa, Subordination results for analytic function associated with fractional q-calculuus operators with complex order, Afrika. Mat., 31 (2020), 1387-1396.
[11] A. K. Aouf and A. O.Mostafa, Subordinating results for classes of functions defined by Sălăgean type q-derivative operator, Filomat, 34 (2020), no. 7, 2283-2292.
[12] M. K. Aouf, A. O. Mostafa and F. Y. Al-Quhali, Coefficient bounds for a subclass of univalent functions of complex order associated with Chebyshev polynomials defined by q-derivative operator, Afrika Mat., (2023), 34-61.
[13] M. K. Aouf, A. O. Mostafa and F. Y. Al-Quhali, Certain class of analytic functions defined by q-analogue of Ruscheweyh differential operator, Stud. Univ. Babes-Bolyai Math., 69 (2024), no. 1, 49-65.
[14] A. K. Aouf, A. O.Mostafa and R. EL-Morsy, Coefficient bounds for general class of biunivalent functions of complex order associated with q-Sălăgean operator and Chebyshev polynomials, Electronic J. Math. Anal. Appli., 8 (2020), no.2, 251-260.
[15] M. K. Aouf, A. O.Mostafa and R. E. Elmorsy, Certain subclasses of analytic functions with varying arguments assocated with q-difference operator, Afrika Math., 32 (2021), 621-630.
[16] M. K. Aouf and T. M. Seoudy, Convolution properties for classes of bounded analytic functions with complx order defined by q-derivative operator, Rav. R. Acat. Cienc. Exactas Fis. Nat. Ser. A Math. 113 (2019) 1279-1288.
[17] A. Cătaş, G. I. Oros and G. Oros, Differential subordinations associated with multiplier transformations, Abstr. Appl. Anal., (ID 845724) 2008(2008), 1-11.
[18] E. H. Doha, The first and second kind Chebyshev coefficients of the moments of the general order derivative of an infinitely differentible function, Int. J. Comput. Math., 51 , (1994), 21-35.
[19] P. L. Duren, Univalent Functions, Grundlhren der Mathematischen Wissenschaften 259, Springer, New York, 1983.
[20] J. Dziok, R. K. Raina and J. Sokol, Application of Chebyshev polynomials to classes of analytic function, C. R. Math. Acad. Sci. Paris 353 (2015), $433-438$.
[21] M. Govindaraj and S. Sivasubaramanian, On a class of analytic functions elated to conic domain involving q-calculus, Analysis Math., 43 (2017), no. 3, 475-487.
[22] F. H. Jackson, On q-functions and a certain difference operator, Transactions of the Royal Society of Edinburgh, 46(1908), 253-281.
[23] S. M. Madian, Some properties for certain class of bi-univalent function defined by q-Cătas operator with bounded boundary rotation, AMIS Math., 7 (2022), 903-914.
[24] J. C. Mason, Chebyshev polynomial approximations for the L-membrane eigenvalue problem, SIAM J. Appl. Math., 15 (1967), 172-186.
[25] A. O. Mostafa and M. K. Aouf, Subclasses of bi-univalent functions defined by covolutions. Electronic J. Math. Anal. Appli., 2 (2014), no. 1, 184-189.
[26] A. O. Mostafa and Z. M. Saleh, Initial bounds for a class of bi-univalent functions associated with chebyshev polynomials and q-analogue operator, Surveys in Mathematics and its Applications (to appear).
[27] G. S. Sălăgean, Subclasses of univalent functions in lecture notes in Math., Vol. 1013, 362-372, Springer -Verlag, Belin, Heidelberg and New York, 1983.
[28] H.M. Srivastava, A.K. Mishra and P. Gochhayat, Certain subclasses of analytic and biunivalent functions, Appl. Math. Letters, 23 (2010), no. 10, 1188-1192.
[29] T. Whittaker and G. N. Watson, A course of modern analysis, reprint of the fourth (1927) edition, Cambridge Mathematical Library, Cambridge Univ. Press, Cambridge 1996.
B. M. Munasser, Dept. of Math., Faculty of Science, Al-Azhar University, Egypt., Dept. of Math., Amran University, Yemen

E-mail address: basheermunassar12345@gmail.com
A. O. Mostafa, Basic Science Dept., Faculty of Science, Mansoura University, Egypt

E-mail address: adelaeg254@yahoo.com
T. Sultan, Dept. of Math., Faculty of Science, Al-Azhar University, Egypt.

E-mail address: T. Sultan@yahoo.com
Nasser A. El-Sherbeny, Dept. of Math., Faculty of Science, Al-Azhar University, Egypt.

E-mail address: nasserelsherbeny@yahoo.com
S. M. Madian, Basic Science Dept., Higher Institute for, Engineering and, Technology, New Damietta, Egypt

E-mail address: samar_math@yahoo.com

